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Essential Mathematics
2019

Question booklet
Topic 2: Measurement (Questions 1 to 3) 30 marks
Topic 4: Statistics (Questions 4 to 6) 30 marks
Topic 5: Investments and loans (Questions 7 to 9) 30 marks
• Answer all questions
• Write your answers in this question booklet
• You may write on pages 10, 17, and 24 if you need more space
• Allow approximately 40 minutes for each topic

Examination information
Materials
• Question booklet
• SACE registration number label

Instructions
• Show appropriate working and steps of logic in this question booklet
• Use black or blue pen
• You may use a sharp dark pencil for diagrams and graphical representations
• Approved calculators may be used — complete the box below

Total time: 130 minutes
Total marks: 90
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Question 1 (9 marks)

A group of hikers planned a trail through a national park. The trail is shown below.
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The hikers must start and finish at A, and follow the trail in alphabetical order (A to B to C to D to E, 
and back to A).

(a) (i) Calculate the distance that the hikers will travel in order to complete the trail.

(1 mark)

(ii) Discuss one assumption that could affect the reasonableness of your answer to part (a)(i).

(2 marks)

Topic 2: Measurement
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The hikers consider shortening the trail by following a path directly between B and D, as shown below. 
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(b) (i) Calculate the distance of the direct path between B and D.

(1 mark)

(ii) Calculate by how many kilometres the original trail will be shortened when following the direct 
path between B and D.

(1 mark)

When the hikers arrive at D, they find that the straight path between D and E cannot be used. They 
decide to follow a semicircular path between D and E, as shown below.
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(c) Calculate the distance from D to E via the semicircular path.

(1 mark)

Topic 2: Measurement
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One of the hikers sprains their ankle at D, and needs to take the direct path to A, as shown below.

123 29.5
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(d) Calculate the distance of the direct path between D and A.

(3 marks)

Topic 2: Measurement
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Question 2 begins on page 6.
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Question 2 (11 marks)

One animal welfare group recommends that a maximum of 1500 free-range hens be kept in an area of 
1 hectare. 

One hectare is equivalent to an area of 100 metres by 100 metres.

(a) Convert 1 hectare to square metres (m2).

(1 mark)

(b) Calculate the area (in m2) that the animal welfare group recommends each hen have. 

(1 mark)

Farmer Wilkins has one paddock that has the dimensions shown in the diagram below.

47 m

123 m

87 m

83 m

(c) (i) Calculate the area of the paddock, in m2.

(3 marks)

Topic 2: Measurement
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Farmer Wilkins wants each hen to have an area of 8 m2.

(ii) Calculate the maximum number of hens that Farmer Wilkins could keep in the paddock. 

(2 marks)

Farmer Wilkins has a silo for storing grain to feed 
the hens. The silo is an inverted square-based 
pyramid with a height of 1.8 m, as shown in 
the diagram. 

1.8 m

1.5 m

(d) (i) Show that the volume, V, of the silo is 1.35 cubic metres (m3). 

Note that  V .

(1 mark)

(ii) The mass of 1 m3 of grain is 790 kilograms (kg). 

Calculate how much grain (in kg) the silo can hold.

(1 mark)

(iii) It is expected that each hen will eat approximately 120 grams (g) of grain per day. 

Using calculations, show whether or not the grain stored in this full silo could feed 1200 hens 
for 1 week.

(2 marks)

Topic 2: Measurement
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Question 3 (10 marks)

An oil spill has been found at sea. The diagram below shows an aerial view of the oil spill and the 
shapes used to approximate the area of the spill.

r = 21 m

75 m

(a) (i) Using the information in the diagram above, calculate the approximate area of the oil spill. 

(3 marks)

(ii) Assuming that the measurements provided on the diagram are accurate, discuss whether or 
not the area that you calculated in part (a)(i) is a reasonable approximation of the actual area 
of the spill.

(2 marks)

Topic 2: Measurement
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(b) A storm has spread the oil further. The diagram below shows an aerial view of the oil spill after the 
storm and the measurements taken at intervals of 40 m along the length of the oil spill.

45
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73
 m 95
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20
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160 m

[This diagram is not drawn to scale.]

Using Simpson’s rule, calculate the approximate area of the oil spill after the storm. 

(3 marks)

A plane will spray a chemical that will help clean up the oil spill. The maximum mass of chemical that 
the plane can carry is 2500 kilograms (kg).

The density of the chemical is 1100 kg/m3.

(c) Calculate the volume of 2500 kg of the chemical, in litres (L). 

(2 marks)

Topic 2: Measurement
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You may write on this page if you need more space to finish your answers to any questions in Topic 2. 
Make sure to label each answer carefully (e.g. 2(c)(ii) continued).



page 11 of 24 PLEASE TURN OVER

Question 4 (4 marks)

Amos is researching how many text messages the students at one school send each day, on average. 

There are 1200 students in this school. The principal suggests to Amos that he email a survey to all 
students in the school. 

(a) State the type of survey method that the principal has suggested. 

(1 mark)

(b) State one limitation of the survey method that the principal has suggested.

(1 mark)

Amos decides to use a stratified sample of 150 students.

(c) There are 265 Year 12 students at the school. 

Calculate how many Year 12 students should be included in the survey. 

(2 marks)

Topic 4: Statistics
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Question 5 (12 marks)

The daily water consumption (in litres, L) of one household was recorded for 10 days before and 
10 days after a water-saving strategy was introduced by a local authority.

The following results were recorded.

Table 1: Daily water consumption (L)

Before water-saving strategy After water-saving strategy

756 645
660 672
702 650
644 620
822 640
698 660
720 610
745 660
650 703
705 630

(a) Complete and label the box and whisker diagrams below.

Daily water consumption

750650600 700 800 850

After water-saving strategy

Water consumption (L)

Q1 = 660 Q3 = 745

Before water-saving strategy

min. = 610 max. = 703

(4 marks)

Topic 4: Statistics
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(b) State the impact that the water-saving strategy appears to have had on the daily water 
consumption of the household.

(1 mark)

(c) Complete Table 2 below (correct to one decimal place). 

Table 2: Daily water consumption (L)

Statistical measure Before water-saving strategy After water-saving strategy

standard deviation

range 178.0 93.0

interquartile range (IQR) 85.0

mean 649.0

(3 marks)

(d) Using the statistical measures in Table 2, compare the consistency of this household’s daily water 
consumption before and after the water-saving strategy was introduced.

(2 marks)

(e) This local authority claims that the average daily water consumption was reduced by 15% after 
the water-saving strategy was introduced.

State whether or not this claim is supported by the statistical measures in Table 2. Justify your 
answer with a calculation.

(2 marks)

Topic 4: Statistics
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Question 6 (14 marks)

One particular ambulance travels to emergency incidents in a suburban area. A study was made 
of the relationship between response time (in seconds, s) and the distance travelled to an incident 
(in kilometres, km) by this ambulance. The following results were recorded:

Incident 
number

Distance 
travelled 

(km)

Response 
time (s)

1  9.3 630
2 10.2 765
3  6.3 435
4  7.5 900
5  9.9 720
6 10.5 750
7  8.7 695
8  8.3 477
9  8.7 588

(a) On the axes below, sketch a scatter plot of the data from the table above. Include an indication of 
the scale on each axis. 

Emergency incident data

R
es

po
ns

e 
tim

e 
(s

)

Distance travelled (km)

(3 marks)

Topic 4: Statistics
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(b) (i) Calculate the coefficient of determination (r2), and state the strength of the relationship 
between response time and distance travelled.

(2 marks)

(ii) Discuss the reliability of any interpolated predictions that could be made using the equation of 
the least squares regression line (line of best fit) for these data.

(2 marks)

(c) There is one outlier in the data. 

(i) State the coordinates of the outlier.

(1 mark)

Question 6 continues on page 16.

Topic 4: Statistics
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(ii) The outlier was found to be a recording error. 

Remove the outlier from the data and calculate the equation of the least squares regression 
line (line of best fit).

Fill in the boxes below to complete the equation.

 y             x        
distance 
travelled

(km)

response 
time
(s)

(1 mark)

(d) Using the equation that you completed in part (c)(ii), predict:

(i) the response time (s), if the distance travelled was 7.7 km. 

(1 mark)

(ii) the distance travelled (km), if the response time was 13 minutes.

(3 marks)

(e) State one factor that may affect the reliability of the response times calculated when using the 
least squares regression line to make predictions.

(1 mark)

Topic 4: Statistics
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You may write on this page if you need more space to finish your answers to any questions in Topic 4. 
Make sure to label each answer carefully (e.g. 6(b)(i) continued).

Topic 5: Investments and loans begins on page 18.
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Topic 5: Investments and loans

Question 7 (7 marks)

Tianying has $7500 that she wants to invest for 15 months. She has investigated two different 
accounts, as shown below.

Account A: savings account (interest compounded monthly)

Term of investment Rate
Up to 2 years 2.67% per annum

Account B: fixed-term investment (interest paid at maturity)

Term of investment Rate
Up to 3 months 1.75% per annum
More than 3 months, up to 4 months 2.20% per annum
More than 4 months, up to 5 months 2.30% per annum
More than 5 months, up to 6 months 2.40% per annum
More than 6 months, up to 10 months 2.65% per annum
More than 10 months, up to 12 months 2.60% per annum
Note: in Account B, money cannot be withdrawn before the end of the term of 
the investment.

(a) Calculate the amount of interest that Tianying will earn if she invests her money in Account A for 
15 months.

(2 marks)

Tianying also considers investing her money in Account B over the same period of time.

(b) (i) If Tianying initially invests her money for 5 months, show that the interest earned will be $71.88. 

(1 mark)
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Topic 5: Investments and loans

(ii) Calculate the total amount that Tianying will have after investing her money in Account B for 
5 months.

(1 mark)

(iii) For the remaining 10 months, Tianying will reinvest the amount that you calculated in 
part (b)(ii) in Account B.

Calculate the total interest that Tianying will earn from Account B over the 15 months.

(2 marks)

(c) State which account — Account A or Account B — Tianying should invest her money in if she 
wants to maximise the interest earned.

(1 mark)
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Question 8 (12 marks)

Paisley started working for her employer at 21 years of age, with a starting salary of $45 000. The 
employer contributed 9.5% of Paisley’s salary into a superannuation account. 

(a) Show that the employer contributed approximately $165 each fortnight into Paisley’s 
superannuation account. 

(1 mark)

(b) (i) Calculate the balance of Paisley’s superannuation account after 9 years if the account earns 
7% per annum, compounded fortnightly.

(2 marks)

(ii) State and explain one factor that could affect the reasonableness of the superannuation 
balance that you calculated in part (b)(i). 

(2 marks)

Topic 5: Investments and loans
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(c) Paisley is now 40 years of age, and her superannuation account has a balance of $. 

Paisley aims to retire at 65 years of age with a balance of $1 500 000 in her superannuation account.

(i) Calculate the total fortnightly contribution that will need to be made into Paisley’s account 
after age 40 years if she is to achieve this aim. Assume that the superannuation account 
conditions remain the same. 

(2 marks)

(ii) If the total fortnightly contribution into Paisley’s account is $475 after age 40 years, at what 
age will she be able to retire with a balance of $1 500 000 in her superannuation account?

(3 marks)

(d) At retirement, Paisley will invest the $1 500 000 in an account paying 3.5% per annum, 
compounded weekly. 

Calculate the weekly withdrawal that Paisley can make from this account, if she wants this money 
to last for 25 years.

(2 marks)

Topic 5: Investments and loans
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Question 9 (11 marks)

Jordan has taken out a home loan, which he will repay over 25 years. The loan has an interest rate of 
4.6% per annum, compounded monthly. The bank advised Jordan that his monthly loan repayment will 
be $4214.80.

(a) Show that Jordan’s initial loan amount is approximately $750 000.

(2 marks)

(b) Jordan makes monthly repayments of $4214.80 for 1 year. 

(i) Calculate how much money he still owes the bank at the end of the first year.

(2 marks)

(ii) Calculate by how much the loan balance has reduced at the end of the first year.

(1 mark)

(iii) Calculate how much Jordan has paid to the bank over the first year.

(1 mark)

Topic 5: Investments and loans
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(iv) State why the loan balance has not reduced by the full amount that Jordan has paid. 

(1 mark)

(c) Jordan’s loan balance after the first 5 years is $660 500. At this time he receives an inheritance of 
$30 000, which he decides to pay into his loan to reduce the loan balance.

(i) If Jordan continues to make the same monthly repayments of $4214.80, calculate how many 
months it will now take him to pay off his loan.

(2 marks)

(ii) Calculate the interest that Jordan has saved by paying the inheritance into the loan.

(2 marks)

Topic 5: Investments and loans
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You may write on this page if you need more space to finish your answers to any questions in Topic 5. 
Make sure to label each answer carefully (e.g. 9(a) continued).



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.6
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<


    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>



    /HUN <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 6.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200036002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 6.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>


    /SKY <>

    /SUO <>
    /SVE <>
    /TUR <>

    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 6.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [2540 2540]
  /PageSize [595.276 841.890]
>> setpagedevice




